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A a Py (s) Ps(s) Ps(s)
0.2 1]309.61 1]875.97 3]586.83
0.1 | 0.5 3]265.72 2]743.99 3]594.95
0.8 3]995.12 3]594.23 3]651.74
0.2 2]2133.05 3]1858.90 7]1882.61
0.3 | 0.5 9]1122.14 5]1394.98 8]1855.02
0.8 8]2859.39 8]2042.20 8]1871.54
0.2 4]11274.60 4]4992.79 12]3200.13
0.5 | 0.5 12]1920.75 9]4188.04 12]3138.04
0.8 13]4517.86 | [13]3468.89 20]11568.9
02 00000000000
SEEEERG) SEENG)
Ao |s 12 | 24 | 48 12 | 24 | 48
04 | 05 | 12 .0331 .0073 .0004 .0301 | .0027 | .0001
0.7 9 5991 | .4471 3130 7034 .5533 .3424
0.6 | 0.5 | 12 .1821 .0874 .0240 2194 .0661 .0060
0.7 | 13 7373 | .5899 | .4916 .8378 7139 5184
0.8 | 0.5 | 13 .5663 | .3905 .2441 .6544 4387 L1971
0.7 | 17 .8751 | .8001 | .6500 9232 .8522 7262
03 00000ap>090000000000000O0
04 | 0.7 | 10 2737 | .1752 | .0803 | .3849 | .2030 | .0564
0.6 | 0.7 | 14 4375 | .2486 | .1253 | .5680 | .3244 | .1059
0.8 | 05 | 14 .3482 | .1890 | .0796 | .4470 | .2009 | .0406
0.7 | 18 .5453 | .3470 | .2181 | .6135 | .3796 | .1415
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[ 0.7 ][ [10]2489.65 | [14]4016.64 [ [18]5902.32 |
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a(C3 =5) a(Cs = 10)
o’ 0.5 0.7 0.5 0.7
0.4 [10]-110.335 | [10]-738.806 | [10]-109.661 | [10]-738.132
0.5 [9]1.832 9]-626.639 [9]3.664 7]-624.807
0.6 7]1456.097 7]-172.374 7]1468.120 7]-160.351
0.7 8]640.642 [8]12.171 8]652.814 [8]24.343
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B(C1=5) B(C4 = 10)
' 0.4 0.6 04 0.6
1/25 || [7]14.650 | [7)21.975 | [7]-8.034 | [7]-12.052
1/26 || [7]201.548 | [7]302.321 | [7]L74.139 | [7]261.208
1/27 || [8]-68.280 | [8]-102.420 | [8]-88.837 | [8]-133.255
1/28 || [B]21.283 | [8]31.924 | [8]-1.577 | [8]-2.365
1/29 || [8]146.738 | [8]220.107 | [8]120.690 | [8]181.035
1/30 || [9]-21.734 | [9]-32.601 | [9]-43.467 | [9]-65.201
07 0.000000000000O000O0
A
t | ¢ |[1/100 [ 1/30 1/20 1/10 1/5
0.1 [2].0459 [3].0913 | [5]-0600
4 [03 ]| [1).0978 [2].0991 [4]1899
05 [1]-3443 [2[-3637
0.1 [2[0316 | [2]0715 | [3]-0598 | [5]-0325
7 [037]| [1].0798 | [1]2991 4.1295
05 [1-4881 | [2]-3003 | [3]-4599
0.1 [2[0133 | [2]:0334 | [3].0223 | [4].0530
14 [0.3 || [1).0496 | [1].2153 [2].1921
05 [1]-3904 (33223
0.1 [2]:0056 | [2].0156 | [3].0083 | [4].0217
21 [03 || [1].0308 [ [1].1550 (21229 | [3]-2259
05 [.3122




